Interrupts Exam Questions Mark Scheme

1. (a) Signal indicating that a device/program requires attention/seeks attention of CPU/processor/OS 

[1]

(b) (i) - Interrupt generated at fixed intervals…

- to allow for display refresh

- to control access to processor in multi access system

(ii) -Interrupt generated by request of hardware…

- (at extreme) to close down safely in the event of power failure

- to pass message for servicing request/printer out of paper

(1 per -, max 2 per dotty, max 4) 

[4]

2. - Current cycle is completed

- Priority of interrupt compared with current job

If higher:

- Contents of special registers saved/job placed in blocked state/in ready Q

- Interrupt/program for execution of interrupt, is identified/vectored interrupt

used

- Interrupt serviced by running program

- On completion values of special registers from original program area

replaced/original job restored

If lower:

- Interrupt allocated position in job queue...

- According to priorities

- Current job continues with next cycle

(1 per -, max 6) 

(6)
